AFER
EBHREFEEAPACKING LIST

FAF: AEE1#

1,FE2S5E:

TE: HW2023011099 EERREE 2100kg

EBMEEY | THJ 2100 / 1- JXVF BEHlAR FANA—AME
B/ik 7/7/7 HER:

HFRR | 1850x2450x2490 FIRT: h5P9E . 1600x2390
2,855

FS &R FEEH R |[B8%5 &iF
1 |FB28FE  [I=HAE, EBSN, HRESIHNTESZRE ]

2 |REME |FRIRSE, MK, BIPe, B PERR A4 s

3 |FEtRAE  |BERR, TRAR, (OB, 507, TUALE, e AFE

4 [1RFE Bk, BIIE ] F=— AR
5 |[MHE  [NBERHEZM, 1BUEREY, 228 ]

6 |SITEEASIZER, WE, B, SHERS, 182 ]

7 |R3IWL |5 IHREH ]

8 [ITWNFE | WG MBRABE, 1Re2 ]

9 | |BIEEERG, 182 yNE]

10 [FENZR  |FHE, SRRTEE, SE% e

11 |5 ER | ERRARN B4 EEaEd

12 R TR | TR EIREE

13 |SREscAE [SFmsAE B, AIE EEaEd

14 [MWEZR  |XWER, WERES, FREANT, ES e

15 [FER |FREER, BIR, B, @ik EEEaES

16 {248 |FiN2L48, BI5|Ness R

17 [JEHR  [XJER B

18 |StmiEsn| S, BIREE

IR TREAZRINE, TR IRNEZFEE, (NEREHE (ERzhE
BH—ERIBER)

HlZ=: BT - . eE: &S :
BB : B:
EPEREUL HHA:

B IS AERERERENLER . BR. RRFERN, REBREZRESATFERRKIARIR , FHEBARNEIR. M. YEF



MR R O’

i

tEpEgRa HW2023011099 B/¥5/11 7T/ 7 /1
FEREE THJ 2100 / 1- JXVF HRE AR~ 1850 X 2450 X 2490
BFLR HHZE 1 # FEIIT R~ MR« 1600 X 2390
HAE | S | Ani % G K5/ #s EIE o [ e | B | B s %
i . K F=2054
! H L BRALE L6444 HEE: FRORUE, AR R bR I £
2 | H SR PR, FCap 170X 370, t=12 2 H A R
BUEER PRl 300%310 2 1 10mm
3 | H B R 40 B I KE=1970 2 £ 20814
4 | 4 B ®400-5-10-16 B, AR B 4 A | TR
5 | 4k U Y 16%h, /&% 125 8 A | A e g
S = Frieie s (e K. LX1860 2 £ | wRrrap
= i E L ] 145%180 2 = | ki rmp
g = . - BCLD-HC-L7, 4L
8 5 K 25 v R PR K. L=800 2 A B96x96
10| B BR SR K. L=3140 Fe BRATK: , JuiTHEHZ | 2 o | BRI UL I
11| A SEAE R H B D16 Hift 4 fF | B
12 R A L RS . 1914 X 2482 1 %=
HMERES B 1A L=957 2 1 4MM
13| H EORE9AS 63X 63X 63 B D16 HifF 4 A i
i 4| A SRR B L4#A8E4R L=2054 2 f | (), G
;:5 15| H 2R 200X 260, t=12 2 He PR R
_ 2AEMPIAEL=2260X1100
G R
6| A L ITE AN = RGN TR S 91664 X 1100 1 = 1E30H
171 A BRI A e e BEpb bRt 135X 50 X50 4 | BT 22 A
18 | 4tk R Ll 4 A | =M AH
9| H B ARHAT @ 164EAT 1=2200 4 % | BB IERE
20 | B ek LR BEEb bRt L= 400 2 S BRI
21 | H WFRFTAR DB10-3 L=3000 1 % | woepsEA
22 | @ B BR AT AR 7 48 BERbbRiE K. =295 2 1
23| H VN A DB10-9 1 £ 1 ftiE
24 | B JEiN BEpb bRt L=930 2 2 | 263, w1
25 | H [P R 0 0 % 0
26 | H B S BiLT89-1/B, %X L75X75 H102 5886 5t 4 A
o7 Ah o 5 AR HREM K 2 A /INid R
Ah R AR J7 REM RS 2 A
OJ105WE R 2 44t (otteg | JCVREBE : 3800KG 1L
g AN ok e 72 25
4] DRRETRE| wews o | ! Tl e
29 | b AR fek s, BERATK: 1840 1 £ | LR
30 | 4b - EUKS 5 57 42 1 A | SRR
BEEAEL:
31| A Je Ml EERR L=457, 1=2490 0 Jas
32| H J& HEER L=500, H=2490 0 {1
7% [ 33| A MET S5 BERR Jerp— PR AL 160 X 1155 =430, H=2490 0 s
B3| A 7 B AR L=500, H=2490 0 P | 1. 2mmdRAR 598
35| B HITEERR ] =32, H=2390 1 1 (FK 1)
36| H HIEERR R R 1=282, H=2390 1 J
37| H Hm 1A 1=1914, H=100 1 4
LRSS 815 1
38| A B 163X 63X 6 L=250 21 I8
39| B BRI R L63X63X6 1=200 21 4
40 | A B E SR 163X 63X 6 =840 42 1 FEA 2l
1 | A7 Gl B 163X 63 X6 L=150 42 8
& H EXC RN L63X63X6 L=155 42 4
Mol 42| A B BRE e L63X 63X 6 L=1876 21 f
H BHEFEY L50 X 50X 5 1=100 0 1
H wHE L50 X 50 X 5 L=500 0 1
PN - 5K/ %, & 14 % N
43 | 4h R 3 T T89-1/B DK% M 2 % 72 >k
Bl e m




M B E

5 &

e Y = HW2023011099 B/¥/17 T/ 0 /7
FEanils THJ 2100 / 1- JXVF BN R 1850 X 2450 X 2490
EIREd HEHE TR~ IR : 1600 X 2390
AR | T [ RiR % W P/ B Z W B | &0 | G | B A % UE
N 5K/%, HiE: 14 % .
44 | 4k POCEE ER TK5A K%, M. 2 % 72 PN
45 | 4b FFPUERIR T89-1/B 14 s
46 | 4b R SPUERER TK5A 14 1
47 | b FFEE T89-1/B 114 H
5| 48| 4 Bl 2R TK5A 110 H
W49 | 4 S 3 L) T89-1/B 29 o | R AR R A
50 H 2 b KJF. L=800 2 fH | mib-He-L7, LEE96:96
53 | H S T89-1/B €= 0.5mm, 1.2mm 80 a5 JEEA
54 | H SEUEH TK5A €= 0.5mm, 1.2mm 80 i JE 2
55 | 4t RIS & gl pit 4 A
56 | H Xof B 40 1590 X 3200 1 £ JC T A
57| B ERI R 75X 60 X 100 2 | AEFRAENT
58 | 4t o ®400-5-10-16 B, AT 2 A | BREXT E
59 | 4t UAIfG 164, )% 1125 4 A | FEXUREE, 6
60 | 4k X R Ak 765X 280 X 80 54 4 | 3105, 48kg/
- 61 | 4t X E G 13K Horthl: B=17 4 A | H EI
e 62 | H Xof B B A AN L= 270 4 1 | FEReAEXT E Y
63| A o} R AL PrifEft 2 £ | BmER ER
64 | H PR FE 270 X 340 2 A | SRR AR
66 | A X IEY R 1750 X 1220 2 1 !
67 | H X E AR L X1220 0 1 B
68 | H o B R S L= 390 8 %
69 | B R KA 6434, L=3000 0 %
70 | b BN A S LD-HC-L7 2 A
e 71 | 4b X g ESE] LD-HC-L11 1 A
: SHEE RN 4 i
72| H JRYUeH, #=J¥: H=1500 1 i
. BUEEE : 1 m/s
ﬁ;; 73 | 4b PR &% XSG608 [ zh) IR 3 2% 44 . ©8 mm 1 = IRy
FLHHZ JO1 k5528 8 0 o e
4| A R AR btk 1.=300, H=80 7 1 Tk A
e % | H FRAZTF 2263048 |DB10-8 L= 375 4 % Emg—jg)%g"gméﬁ
I=E=2 H R AR 222 3 58 Pt L= 390 7 % i 189-1/B
76| H PRGE R 2% H: 1900 0 %
H SR K10. 3 FLEE: 110 4 f
80 i P e L=650, 16& 44K 0 %
81 | 4 T2 819S+NF-10 B ©10 805 k| 161K x5%
w1 82| 4b PR A4 22 41 8%19s+PP-8 Hit: ©8 75 K 754 X 1%
2 [ 83 | 4 I3k D8 6 A
4| g4 | 4 LD YRy ®10 S 308 | 10 £
81 Je L% fih LU AR 0 0 £
85 | 4h HEEEE HERE 1 =
#E: 1050kg  AE: Im/s
86 | 4h 75 8,3 L GTWOS %?%I%Zt%él IJJ$1.1103V. kv { & | HBEIEGTWOS
9, Y. D400-5-10-16
51 | 87| H FEHLZRAMR &) 700 X 200 1 1 | 2084840, Afl
Bl 88| A B WSS IR R, 26— 570X 275 1 £ | Q235 t164NK
89 | H RHEL EIRANE] 180 X 250 2 £ | Q235 t104M4R
92 | A RHE2 b B 130 X 250 2 1 | Q235 t104NHR
91 | H BHES bR 130X 290 2 £ | Q235 t104NR

B2 ke




M B E

5 &

LRSS HW2023011099 B/¥/11 7T/ 7 /1
FranEls THJ 2100 / 1- JXVF RN R 1850 X 2450 X 2490
E-IRE L AL FEIH R A PUE - 1600X2390
WA P | R % R /A8 Z  H K | %07 |0 | Bk | B Ar % *
89 | A FRE R KE: 3200 288 T R4, WAL | 2 1t M
90| H AT R K. 3200 208484K, el 2 s B P
92 | B AR EL. 2 (FiH) 0 %2 £ Fi P
91 | A JAR 300X 550 Q235 t10%W4R 4 i3 &)
92| A SR EZR 174X 130 0235 t44IR 2 1 B ]
91 | A B T 148bF84M L=700 2 4 14#b A4
w91 ] H 2 T 14#b 8] 1.=400 2 1 148N
5092 | H P Sk 2% 2 25 e AR, bR DYWL LURFLEE: 240 1 1 =575
Bl o3| 4 R4 (R0 BEEREE, JEhr b ®400-5-10-16 2 A
94| H JApke CBRRD Ses Bt L=1250 1 4
9%5 | A S ApEe CERRD 448 bt ] 1=280 2 i3 4mmfr S
96 | 4k éife F#E) A, AEbr I ®400-5-10-16 1 A
97 | H AR GiED) R e L=450 1 P
98| A AR W E) $44 s P L=500 2 s 4mmfr S
95 | 4 UAIfG 165, )% 1125 6 A | FEXUREE, 6
96 | 4t AR HIAR Bk — R4k 1 = 15 kw
b BB 1 £
Ah UCMPHR MCTC-SCB-A1 1 z I
97 | 4t BEATHIZE . ISR M 35.01 K 1 5 S AL E T
98 | 4k e HUR K 4 A
L 199 b RIS i o7 = LR B YR 1 =
;IIJ 100 | 4b PRH LGS/XC-001 7 /7 /7 1 =
= 101 | 4b | FEISANIEE GRFiEBED LGS/XC-001 1 A
g [102] 4 1l b LGS/XC-001 5 A
103 | 4k Tt A& LGS/XC-001 1 A
104 | 4b JRIURHER 1 A
105 | 4k JER T % ThUAR [ gmp g 220V / 40W 2 A
106 | 4k 2T 2 A
107 | 4b FL4 R S R 2 N e
108 | 4b HAL 25 [ 7 2 L= 1000 /% 8 %%
109 | 4b Mo HEAR AR IhE: 15 kw 1 A 100A
110 4b HLIERAR AT IR AT 220V / 60W 1 A
111 4b FIEST AC220V 60WHsH7 & 6 A
12| 4k FRUKS 5% 1 A
;% 113] 4b GRS 1X29-7/3 0 A
g 114 | 4b HRAT 220VARAS: LED4T :1020 X40 | 2 £
1 ah SE 500%500 0 =
115] 4b FOCHLIE AC220V % DC12V 0 A LED/T H
116 | 4b FRAZIIFSE (1370) 4 A
b PR 1 A
117] 4b FyiE G 1 £
118 | 4b SR R [ 7% HD/BRB 1 i
119 4k = [ B A 4R S 2k BVARFRARI : 10 mm? 45 *
120 | 4b —NPEL 3X0.75 mm? 20 ¥
121 4 2. 5mm’ ik G2k 15 S
122 4h 10mm ¥ 43 1 2% 15 K
123 | 4 P 66 EE AL 47 B i 2 0 ¥
124 4b A 80X 60X 1.2 5 %
125 | 4b LSRR 10 ff
B [ 126 ] 4b SIBRE KWW, 030 8 RS BL5
2127 Ab EREE K, @10 7 K FiE
o 128 4 W Rk ®30 mm 4 A
| 129] 4 B IREEL ©10 mm 14 A
130 | 4 BRI D13, EH 6 K| RIELH
131] 4 IR Sk @13, 90° 10 A
132 4k Je L 200mm 200 2%
133] 4h HEEIK ki D6 mm 222 A
134 | 4b R AR 3 &
135 | 4b FRLRIE () 33 A
136 | 4k LH (R UT10-6 20 A
137 4 HH M) SV1.25-3. 2 40 A
B3 e



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M B B H®

L

HEprgme HW2023011099 B/¥5/11 T/ 01 /T
FEails THJ 2100 / 1- JXVF HRENR 1850 X 2450 X 2490
E-IRE L AR 1 FEIHRER 0« 1600 X 2390
A | A & E5 /8 R e B KenEa hitiod X % I
138 H J& THAR 462 X 1914 0 {4
139 H A THURR 500 X 1914 0 i | FFLEDAT : 1020 X 40H13L
T IR AR A 500 X 1914 0 T
141 H T TR 462 X 1914 0 f
o W,
42| 4 FFI AL FFITBEIE1600X2390 |45 (17, 96HiiR. MRE 4| 1 8 2, ou-2021
(A3 i) 5
_[144] B B R i 1700 X 800 1 i
ﬁ 145 B TR 96tk K. L=2000 0 2 [ IHLEC
146 B AR TR PriEAE K. L=480 4 2%
147 H IR 43 PU 5 1600 X 2390 Rk 35 L=425 H=2405 0 P HRTT. BIT&E
148 | H 1R S e DUk : 1600 KB 1L=2000 1 % | Q235 t4drss
149 | 4b Bik NEEE eHD) 917A61-AC220 1 = W
150 [ 4k 1k TR 1600X2390 =M. 96k | ARdEM | 7 Ekg‘ 5 o
N Z: 0CM-202A
155 | H JZ1TR L. 2mmNAR BEIE (K £2) L=425 H=2405 0 TS 18IS
H FAEE PR 2355 0 fF | R TRR R
156 B BES T L. 2mm AR T (K £4) B=80 L=1720 0 % 0
H [BESHR L. 2mmNAR BEIE (K ) B=80 H=2410 0 lis 0
157 ESUYS L. 2mmENAR BEIE (K £4) 815 0 %
H TR (k) L. 2mm AR T (K £4) B=80 H=2390 0 as 0
H I1E NIERER it B 30X 75 0 1
= [158] & Bk kL 0 1 ELal
" o] BRI bR 80%55 0 Z
60| H FEI18 0 7 i
161 | 4k JZ 1 THBIR KpE: 2510 7 2%
162 H 2 THBIRFERE B P K. 1=2000 7 %= & i
163 H Z 113 IR e 1650 X 400 7 {4
164 H FEEH IR FR 3 K KR
165| H B IR AN 30/44N 9 % 14K/ %
166 | H TR T 0.5, t1.2 64 G JEL g 442
167| H HARAA T 0.5, t1.2 64 fF 53 %)
168 H J2 TR A iR £:500 35 A
169 | 4b S Pl 5 kg
170 | 4b AT K 2 kg
171 4 T 1 kg
172 4b Wa AR 3 kg
Hoqh) 173 4 BT R 1 '
Fofk) 174 | H B E) ®8 mm, [=1000 0 . I
R ] ZE>20mm, KE200mm, EEMEA>3mmLLLE 42 pp | TR IRRDE
175 | 4b W Ae] 2 i
176 | 4 ) X 1K @ 440 22 4 2 2%
= ; SIS = R L - D = :
179 | 4b FMEFE HZd10 33 K 2 2%
180 [ 4k AMERE S E BWHKE, 1=1860 1 7
181 | 4b [#b2E S maE B a3 L=510 2 7 R
e 182 4b 1K O 84N &L 48 4 2%
= N I
= ZL MR T T — GR q);ﬂilﬁ = =
185 | #4b URAY (M12, FLEET72) £ FrhERE
186 | 4h o} 22 A4 QJ 105k 0 A4l He ot AR LAY £ | XTHEHE: 1626

400 e m




i S - S -

Lot

EPERT HW2023011099 B/35/11 7/ 1 /1
FEaRE THJ 2100 / 1- JXVF BN R SF 1850 X 2450 X 2490
JRE S o HE 2K 1 1 Fl1AR KRR~ A POE . 1600X2390
B Had D2 R K= /R Z AR AT RN % 3E
1| BRESRE AE 12 M16 X 55 BT, k. 48R Rl | 30 £ | 8.8 gkt
2 SRS B B2 M16 X 50 B P, gk, WER) 0 S R
3 |5 FREE ., i BB M16 X 70 BEXUR T, g, iR | 16 =
4 | EESRYS E. RS M2 M8 X 25 BooTa, gk, R} 16 =
5 | B S RIR AT R B2 M12 X 40 BO T2, sk, 1BR) 0 = CAERC2
6 | BIidEs B2 M8 X80 BOT3h . TR, Bk, R 8 =
7BV M2 M12X90 BCTf, sk, BB} 2 =
8 | MR PRI MR M12 X 45 BO-pR, sk, 2R} 20 =
9 |IIWLEE A S IHL R S 40 M2k M12 X 45 Br-Pf, sk, BB} 2 =
10 |1 THLE e B0 SRt M M12 X 45 BO-pR, sk, Bk} 2 =
B AL [TIHLS TR S 4 IERE M12X45 [N 5 N S 4 =
2 [L12 IR S AL s 48 IR M12X45 BroPs, g, gkt 4 =
13 | PSSR B2 M16 X 55 Br PR, sfiEk, R BR[| 24 = 8.8 AL
14 [ FHRSRA BERE M12 X 45 BT 3. TRl sk 2R 12 £
15 | PR S %4 M2 M16 X 60 BooPah, Jifplds, sad 2R 8 =
16 | AR SHATE . FAr R MRS M12 X 40 BOT3h . TR sk, wERE 12 =
17 | PiAt 5 h A i IZHEM16 B2 X Pk, Bk 3XUERE | 0 E CL3ERLA
18 [Fikt SHittH B2 M16 X 90 Br-PH, s WER) 4 £
19 EihiEs: 1242 M16 X 50 FioFas, JrRleh, o, i85f 14 £
20 VAt 5 Hb IR AEAN B2 M16 X 50 BT3Bk, 2R 12 =
21 |BR1 IR 5 A R I2AE M8 X 40 Bo-Pas, R, gpEs. WERE 5 z
22 |5 5)EA . PR 2R M12X40 B P, s, gkt 4 £
23 |BERR 5 A B2 M8 X 30 Ao P, sk, WERE, R 54 £
| 24 |BEBGER: B2 M6 20 BO-pR, sk, IR} 152 B ERIEYZ GERD
B | 25 |RiEEAR SR M2k M8 X 20 BC-Pf, gk, WER) 6 =
26 | BERR S5 TiAR B2EE M8 X 30 Br-pE, sk, IR} 54 =
27 VFEASE e OKIBE) ZEIBBERHKEE M12x120 ARG, Ik, 1Rt | 128 % TosE
28 |FEAD [ E (RERED FRZEFE M12X280 | HCPH SPHGii, i8R | 84 b
9 29 |k B2 M12 X 45 BOoFE, sk, IER) 94 z
4;71 30 | EHERY B2 M12 X 45 BO-PR, sk, 2R} 142 = 13K
31 |RIELERY B2 M12 X 45 BOoTEs, sk, 1BR) 94 = T5K
32 | ERIESR MR M12 X 45 BO-pR, sk, IR} 122 =
33 |BIBUEER 12 M10X30 BU PR, sk, WRB) 122 £
34 | ELLE B IR M8 X 25 BropE, sk, IR} 8 £
35 [ WERETE 124 M8 X 25 BO TR, sk, 1BR) 8 z
|36 | H Bk E B2 M10 X 40 BO-pE, sk, IR} 4 | mssOfuUsrY
# | 37 [XEE S E S B2 M10 X 30 BO PR, sk, 1ER) 30 £
38 X H 5L AR M2 M8 X 25 Bo Tk, gk, R} 8 =
39 XY AR SR LA M2 M10 X 25 BC-Pf, sk, BB} 24 =
geht] 40 [Emst s EhT SRR M12x120 BioPi, gk 8 12 =
AR [ 41 [ PR SR A% 1Bk M8 X 25 BCTf, gk, BB} 4 =
{3 | 42 | PR % E [ 5 JEKCIEAS M10 X 80 ALFE T L SR 2R 0 % WIE S
43 | R PR 22 3 20 55 hig R S 4 IR M10 X 25 Br-Pf, sk, BB} 12 =
(|44 R4 5 SRR WA M12X 45 BO~PaL . gk, BEB) 12 £ T13K
" 45 |FE itk 5 248 BEHE M6 X 20 AT, s, R 7 £
46 | R B S SRR MR M12 X 45 BO-pE, sk, IR} 14 E T13K
47 (B 5IHLE EHL4E M20X 110 FloPH, B Rl R | 4 = 8.8 %
Mg |48 | ENLER SN 4T B 24 M8 X 25 Fo-Pi, sk, $RR} 8 S
2] | 49 | M IIHLHAE R E ZEIBBEERKEE M12x120 MIEEHE . wa . 2R | 12 pa WSEAG G
Ml 5 BB e B2 M20 X 65 (ke 20 X 8.8 %
50 |EHLLLE K E G IZFEM16 X 45 POTREA PR R 0 = 8.8
51 |45 iAE [ e NEMCIE A M10 X 80 ALFE T E . SR, 1ER) 4 % W IE A 4%
52 |18 LS [H & IKIEET 4% 40 161 ¥
el 53 |JeHIT R & BERE M6 X 30 ALFE T E . BRI, B R} 8 =
;% 54 [BR kR ISR B2k M8 X 25 P L B gr | 4 %
55 |RYUAAEHE [E & JEK A2 M8 X 80 ALFE T3, SR, iR} 4 % WA 5k
56 |2UEaE e JE I M8 X 80 ALFE T E . SRR, iR} 4 % W IE A 4
57 | FEZS AL e ZEIEBERAKIE M12x120 ALFE T e L BRI R 8 %



Skyfree
Skyfree:
114轨用M16X55


R OB

i &

b Y = HW2023011099 B/%5/17 7T/ 7 /7
FEamils THJ 2100 / 1- JXVF RN R 1850 X 2450 X 2490
BEEHK A8 14 FIIHRRRT FPUR - 1600X 2390
AR T i R P 5 /A Z W Ko | % 0% | O FF | FAR | B A % IE
58 | #1155 FELYEAR i FIKIERE M8 X 80 WP, s, R 4 k3 WA 5%
59 | ERL LR ] e JKIPeE] 4 X 40 116 %
60 | [ BEUKSH %[ 5E 7 Sk dZFE M5 X 40 TG T, g, R 4 £
mge| 61 [flkRJT O 2 [ Sk WAL M5 X 40 ALFET-HEE ., g, ER) 0 S
Befh| 62 |4 [z F 2 s B E kB4 M8 X 80 AT, s, R 0 k3 WA 5%
63 |HL55 LRt il 2 JEZRKAZAE M6 X 50 AFEFHEE . . R | 25 Ea WA 5
64 | ML LT I2HE M6 X 25 40 S
65 |4 AE i [ HBUZ 22 M4 X 10 60 %
66 |HF IR 2 Al BERE M10 X 25 B P, gk 0 5
67 |IINL I 5123 2R M10 X 30 Bo-F-Ee, gk, Rt 2 =
BT 68 | B RS S 2R M8 X 25 B, Bk, 1Bk 6 %=
69 [T 511k 2% BB M10 X 25 B P, ik 0 5
70 ¥ ISR SR 2R M8 X 25 B, Bk, By 6 5
71 |11 AR BB AR M10 X 80 ARG L g, IREE | 42 £S5
72 RIS RT3k B2k M10X 30 ALFEFE R, g, BB | 42 £z
73 |21 1A R B2 M10 X 30 ALFET R, g 28 =
74 |I1ER 12k M8 X 35 [ L N 3 24 =
JE11| 75 [hiRaedk IERE M8 X 25 AR L R 59 '
76 |HhIRFLLE R FIEEERAE M12x120 AR . . R | 96 5 Toek
77 | HAR S 2R M10 X 30 IR ., s, ERE 0 = AR
. o B 22 M5, 5X 19 20 =
78 Pk T RIZAEME X 100 10 £z
79 BBk AR g 2 5] Sk IB 22 M6 X 25 AT BT 18 £
80 |1 b TR ;fgﬁw@;fe; (e L N : i AR
81 [# b5 2 T IR R4 22 VLI M5X 15 ALFEF R, g 40 £ 21
82 |H AR 5%k T IR R4 20 ik iBFE M8 X 15 ALFET A, gk 10 5 i)
X RGN e A B M16 X 60 FOoTs, JrRlEs, gk EEH 0 5
AR R 12K M6 X35 AFEFEEE . g, IREE | 122 £
EIEES AR BBk M5 X 50 AFETHE . B, BR | 32 £




